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HIEH—TH 602 312 290 263[lTEERTH 651 329 322 330
HIEHF_TH 405 191 214 172|[FEH/ARTH 722 369 3563 323
HAIEH=TH 497 238 259 2077 E—TH 1,177 602 575 499
HIEEHUTH 391 198 193 160|#x7 E=TH 1,400 695 705 562
HAIEHRTH 486 240 246 2107 E=TH 667 322 345 274
HIEHNTH 958 468 490 3997 EMT B 708 353 355 313
HAIEHLTH 670 334 336 285 ERTH 1,070 541 529 450
HIEEH/\TH 661 331 330 287\#A7 =R T B 749 366 383 283
/N 415 204 211 1297 =t TH 714 342 372 263
Eib:ut 287 162 125 SNARTE—TH 670 329 341 296
TRETE 61 39 22 00 ARTE=TH 462 235 227 176
=% 747 356 391 229\ ARTE=TH 652 310 342 270
iR 88 42 46 28| AR EMT B 1,215 618 597 464
2 ¥ 455 224 231 165\ 7 E—TH 12 6 6 11
B Kl 1,408 684 724 449| R T =T B 766 407 359 372
PNIE! 1,620 729 791 S44|HFr 7 E=TH 640 318 322 274
LR 1,611 832 779 S92\ HET/ 7y =T B 553 283 270 238
KL H 243 88 165 AB|(EIRT T EER T B 874 427 447 374
AR 500 240 260 165|[#ARTE—T B 737 355 382 332
= 1,112 550 562 376[rTE=TH 663 316 347 292
UHLE—TH 997 526 471 431 FTE=TH 759 379 380 339
UNLEFZTH 2,020 990 1,030 TT[METEMT B 782 383 399 281
UHALE=TH 1,444 749 695 S53|MATERTH 945 478 467 361
UHNLENTHB 313 150 163 145 /ARTEANT B 638 315 323 241
XE—TH 471 237 234 171|#8ratTE 1,025 500 525 408
ERFE=-TH 483 251 232 183(|1XEem&E—TH 587 303 284 256
XRE=TH 508 262 246 212| /e =TH 993 511 482 345
EXEMTH 435 211 224 177|Xm&E=TH 647 323 324 269
XREATH 276 139 137 T12|ZEmEmT B 772 335 437 323
FR—TH 1,080 537 543 44T ZEAERT B 703 340 363 256
e =TH 337 173 164 IEX] ESIi=vaull= 522 271 251 227
RE=TH 495 267 228 234|XEmetTH 729 370 359 301
YT H 423 243 180 273|& & 68,486| 34,210| 34,276| 27,438
AN 1,338 639 699 499
BET7E—TH 707 361 346 269 EEAD
B&Ea7EZTH 2,261 1,136 1,125 929 B A b iEm
Ba7E=TH 2,571 1,309 1,262| 1,077 A0 12 A
ZRHET 7,496/ 3,815 3,681 3,225 ( 5 12 A]
M EE—TH 2,100, 1,042, 1,058 754 [ % 0 A)
MUEFEE—TH 1,116 559 557 338 HE 36
MUMEE=TH 520 251 269 195
[TrEE—TH 532 284 248 267| x\—TBHEIRI=EE
[TEEZTH 868 404 464 389
TPEE=TH 1,307 666 641 523
[TEARMNTH 702 339 363 227




